LIGN 171      Child Language Acquisition       Final Exam


Name: ______________________________

UCSD ID: ___________________________

Take Home exam. Use your textbooks and notes freely, but do not work together – all work should be your own. Turn in your exam by email (mwalenski@ucsd.edu) or hardcopy no later than 6 pm, Tuesday June 10th (if you turn it in by email, make sure to include your full name and UCSD ID number, so that your grade can be assigned to you).

1.  Mean Length of Utterance (10 points).
Calculate the MLU for the following sample of child language (make sure to include your morpheme count for each utterance).

C: then Max opened the present.

C: there was a baby frog in it.

C: they went out to play.

C: one of his pets told Max. 

C: the big frog didn't go home like he was supposed to.

C: that’s all I know. 

2. Recall what you’ve learned about autism (20 points).

2a (8 points) Which theory that we discussed would explain pragmatic deficits in autism (and say briefly how it explains them)?

2b (8 points) What are two different explanations for the over-reliance on formulaic speech in autism?

2c (4 points) Give one similarity and one difference (in either language or non-language domains) between autism and Williams syndrome. 

3. Autism and Savant Syndrome (10 points) 

Autism is strongly associated with savant syndrome. How would you explain the paradox between savant linguists (autistic savants with a talent for language) and the language impairments seen in autism (in general – i.e., not necessarily referring to a particular individual)? 

4.  Recall what you’ve learned about SLI (20 points)

4a (8 points) Why is Specific Language Impairment a bad name for the disorder? Or is it a good name?

4b (8 points) What is one explanation for the variability across subjects in the pattern of co-occurring language and non-language deficits in SLI?

4c (4 points) Give one similarity and one difference (in either language or non-language domains) between SLI and autism.

5.  Acquisition of English Plurals (10 points).
For the Berko English plural data (see LDER page 206 - 211), explain why both rules and schemata appear necessary to explain the full pattern of results. That is, what aspect of the data do rules explain (and what can’t they explain), and what aspect of the data do schemata explain (and what don’t they explain). 

6.  Acquisition of Complementation (10 points).
What do the verbs “know”, “think”, “look” and “see” appear to mean to children, and is this different from the meanings of these verbs for adults? That is, if for adults “think” refers to an activity, and “know” to an experience – is this the same or different for children? If different, what dimension of meaning do these verbs reflect for children?  (refer to all four verbs in your answer)

7.  Theories of Language Development (20 points).
7a (12 points) What are the four stages of language development proposed by Piaget?

7b (8 points) What are two problems for Piaget’s model (i.e., what doesn’t the model account for, or what facts conflict with claims made by the model)?
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